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Welcome to Minitab, press F1 for help.

***A.)
Results for: 22SMALL(1).MTW

Tally for Discrete Variables: sex 

sex  Count  Percent

  1      4    40.00

  2      6    60.00

 N=     10

**1.) The sample is 60% female (6 of 10)

Tally for Discrete Variables: color 

color  Count  Percent

    1      5    50.00

    2      3    30.00

    3      2    20.00

   N=     10

**2.) Most common color is yellow, at 50%. Others are brown(30%) and spotted (10%)

Descriptive Statistics: weight 

Variable   N  N*   Mean  SE Mean  StDev  Minimum    Q1  Median     Q3  Maximum

weight    10   0  13.98     6.92  21.90     1.50  3.18    6.07  15.31    74.14

**3.) Mean weight is 13.98 g, standard deviation 21.90 g

**4.) 5-number description of weights:

Min 1.5 g, Q1 3.18 g, Median 6.07 g, Q3 15.31 g, Max 74.14 g

Histogram of weight
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Scatterplot of weight vs age
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Correlations: age, weight 

Pearson correlation of age and weight = 0.965

P-Value = 0.000

**7.) Correlation of age and weight is .965. There appears to be a lot of linear relationship between age and weight, but the graph shows there is some curvature (not corresponding to the linear relation)

Regression Analysis: weight versus age 

The regression equation is

weight = - 10.69 + 7.710 age

S = 6.10429   R-Sq = 93.1%   R-Sq(adj) = 92.2%

Analysis of Variance

Source      DF       SS       MS       F      P

Regression   1  4017.90  4017.90  107.83  0.000

Error        8   298.10    37.26

Total        9  4316.00

Fitted Line: weight versus age

**8.)
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***Regression line is weight = -10.69 + 7.71 * age
Graph makes the curvature in the data even more obvious
***B.)
Results for: 22LARGE.MTW

Tally for Discrete Variables: sex 

sex  Count  Percent

  1     22    48.89

  2     23    51.11

 N=     45

**1.) This sample is 51% female

Tally for Discrete Variables: color 

color  Count  Percent

    1     27    60.00

    2     17    37.78

    3      1     2.22

   N=     45

**2.) Most common color is again yellow, but at 60%. Others are brown (37.8%) and spotted (2.2 %)

Descriptive Statistics: weight 

Variable   N  N*   Mean  SE Mean  StDev  Minimum    Q1  Median     Q3  Maximum

weight    45   0  10.02     1.97  13.20     0.75  2.33    4.56  15.18    78.09

**3.) Mean weight for this sample is 10.02 g, standard deviation is 13.20 g

**4.) 5-numer description of weights in this sample:

Min .75 g, Q1 2.33 g, Median 4.56 g, Q2 15.18 g, Maximum 78.09 g

Histogram of weight
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Scatterplot of weight vs age
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Correlations: age, weight 
Pearson correlation of age and weight = 0.941

P-Value = 0.000

**7.) The correlation between age and weight in this sample is .941

Again there is a lot of linear correlation, but also a curve to the shape.

Regression Analysis: weight versus age 

The regression equation is

weight = - 4.865 + 5.678 age

S = 4.52763   R-Sq = 88.5%   R-Sq(adj) = 88.2%

Analysis of Variance

Source      DF       SS       MS       F      P

Regression   1  6788.37  6788.37  331.15  0.000

Error       43   881.47    20.50

Total       44  7669.84

Fitted Line: weight versus age

**8.) 
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***Regression line is weight = -4.865 + 5.68 * age
Once again, showing the “best possible” line makes it clear that the data has a marked curve

***C.)

**1 The larger samples has a slightly smaller proportion of females – not a great difference.
**2 The smaller sample has more (relatively) yellow and brown lizards, a smaller proportion of spotted lizards.

**3&4. The lizards in the larger sample are generally less heavy – mean weight 10 g vs 14 g, Q1 2.33 vs 3.18 g, median 4.56 vs 6.07 g  Q3 is about the same in both. The min is smaller and the max larger with a larger sample – we’d expect this to happen frequently (more chance of getting very large or very small values).

**5. Histogram fro larger sample is a bit “smoother” – more values, so less chunky. Both indicate a right skew to the data.

**6&7 Scatterplots and correlations are similar – larger sample shows more of the shape because there are more points, both show a lot of linear correlation but also a marked curve to the relations.

**8 The slope is larger in the small sample regression (suggesting faster weight gain with age). Neither line matches well with the largest & oldest lizard in the sample – the curvature in the data is very evident.
